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Quiz 1.3 _ N
5 1.4 Linear Inequalities

1. (2 point) Temperature Conversion O == (F —32

Solve for F 9 ( ) Replace the ? with <, >, or = to make the statement true.
1.3€6 2. -32-6

2. (2 point) Statistics 7 = Y H

Solve forx o | 23
3.-=5 4. 22

2 3°5

3. (3 points) Dimensions of a Window The perimeter of a
rectangular window is 26 feet. The width of the window is 3 more
than the length. What are the dimensions of the window?

Examples of Linear inequalities

x=4>9 - 225: 2_3x tg{; Representing Inequalities Using a Real
Number Line and Interval Notation
2x=
i <X > z: Interval lnequI:::r:auﬁnn Graph
2 X2 % The open interval {a, b) {xlo=x< ) — f—-—-——-}-
The dlosed intesval [a, &) {¢lo = x = b} nl—"'—']l——'l
The hall-open intenval [a, 6)  {x[o = x = b} o .
The half-cpen interval (2, ] [xle <z = b} - I{I-.-—FI —
The intervat [2. o0} {xlx = a} ——l—i*—~'r
The interval (&, 0o) {x|x > a} _l(r_..._-.-_.-.-.-—a-. -
The tnterval { =<, o] {x|x = a) _q_.; -
—%?k < 7 The imterval (o9, a) [xlx < o}  m— —
___’; :'_3§ The interval (oo, o0} [xlx is & real number} e
X > -3
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Write each inequality using interval notation then graph.

Write each inequality using interval notation then graph.

2<x<4 | -2,4) <2 (—es, 2)

— I T |
LI 1T rri
2 3 4 5 6 7 8 9 10
- I T T T T T T T O
1T 17T 1717 7111 11T Tr 1717017 17171
10 9 8 7 6 54 -3 2 -1 01 2 3 4 5686 7 8 9 10
1 N T I T T T O T O T I |
L L L L L L L L O O IO B B
-0 9 8 7 6 54 -3 2 -1 01 2 3 4 56 7 8 9 10
Write each interval using inequality notation involving x, then graph.
You try
—3<x<2 2,4 5*/'15“4}
= = [-1)
I 1 1 T T O N N S v |
L L L L LI O O A
10 9 8 -7 6 5 4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10
109 8 7 6 54 -3 -2-1 01 23 4 586 7 8 9 10 (1’5)
x<3 10 -9 8 -7 6 543 -2-1 01 2 3 4 56 7 8 9 10
_001)
(-, x| =< < |
1 N T I T T Ty I | § B
1T 17T 1717 77171 T T T Tr 717 1v 17 17171
10 9 8 7 6 54 -3 -2-1 01 2 3 4 56 7 8 9 10

10 9 8 -7 6 54 -3 21 0 1 2 3 4 5 6 7 8 9 10

-0« x < |
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Solving Inequalies

You try

x—4>25x+12

(0, 8]

10 9 87 6 543 -2-10 1 234 56 7 8 9 10

You try

A(x—1)+2x<6x+3

2x+1<3x+11
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O:lrzx— 2)<3x—4 ?‘fg D;’QC;?

x4+

- > 3o
5,_f ‘/(ig
/‘x
&> -

You try BankOne has offered you two different credit card options. The
Southwest rewards card charges an annual fee of $39 plus 12.9%
3x + 1 simple interest on all outstanding balances. The Marriott rewards card
> 2 charges an annual fee of $30 plus 14.15% simple interest on all
outstanding balances. What annual balance results in the southwest

5 card costing less then the Marriott card.
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You try

BankOne has offered you two different credit card options. The
Southwest rewards card charges an annual fee of $25 plus 9.9%
simple interest on all outstanding balances. The Marriott rewards
card charges no fee and is 14.9% simple interest on all
outstanding balances. What annual balance results in the
southwest card costing less then the Marriott card.
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